10SC002

0% Mmvt ST
RECEIVED iy BLENDS

MAY 0 6 2010



10SC002

Aas s
uf
y [{Li’.!._ Lz

WROVGHT - | RON RAILING

o &JL\M BLENDS
Qog Main St

Lo Al MMZ!' Manu .
\ ! owner: Tim Burke

RECEIVED ?ap‘ d n, 5



-

10SC002 o+ Aidac w
Sty Blendo

gacn“\ ! ’EQ) e
Bt Nk —

7 Rolten Nowwv vt /71 Hoa
EMO’V{?ES K ’774/-‘;55’ Auoﬂbﬂ TXREAD
T zmsecpEs To TRE CorcRETE
pos (Cav Be Readay Revwep
Awn /\)E_puséﬁc.z_tb -
7 Burke
04 [23/2010




10SC002

‘*ﬁ{ FRoM Af//

Technical Data

Eeatures and Applications
! s Cuick and easy to install {herstore ideal for s “‘a‘f'“"
£ serial festenings sConcete _ _———
5 m Saveup to50% 0N ietalistion time Anchor material
T » Caarbon Stes. partially nardensd, OeflElo
X m Del@atone epating and o-giep hest treatment coating
_,{ process provide reliabie festening ———— e
1 " ; Listings/Approvals
_;E B Works with standard cirill biis « Qyaified undet an NADA-1 rapciear cuakt
r B Suisbée for fmiied edge distances and pogam
spacing T e
m Completely rarmovabie for temporary
HUS-H 3/8" screw anchor with hexagon head 1/2" AF, 1 1/16" washer diameter
B Combo
rchues BT ENcred L 200D psi Corosts
Anchor Bom Dy e Master Camton iz
Descrphon Bt D Lengm pem Mo, O pemMo  OFY nem Mo O vy Emi Dep Tengaon M Sregyr fiE
HLUS-H 38" 1 21 a" grE  2-1E pOa3G6aE g 0345525 pO30S61E 500 = 2 1025 400
HUS-H 38" x 2-5/8" g 2-98° DORIEEET gy 03455252 p0305619 600 B 2 1025 1480
I'IJS"HWIS-' SNG" - poaweeEE 50 Q3455253 pO30sE20 400 3 2.3/48" 1785
HUSH 3E" ® 4" SHE" ar DO3D4503 50 03455254 DpO305ES1 3 z-3/a" TBS
HUS-H 3/E&" 25 sME 5 pO304504 gp (3455255 pO305622 3 2347 1785
HUS-H3E = 6" Taliy B 00336682 50 3455250 1 DOR05E23 3 2-3/4° 1783 1420
HUS-H 1/2° screw anchor with hexagon head 5/8" AF o/10" washer diameter
Box Combo Master Garton Gomt
fraciuies B [rciucies BT Enoetis Loact ool g Concretd
Anchor Bom Oy g Master G Bt
Deescription Bt Dxa Lengm mem Mo Oy pamio  OFY s MO Oty pem Mo O Erniy Depn Feresaon [0 Sy [
HUS-H 172" x z-irz" e 2 0304505 gn  034552S7 pO305G24 300 (3455272 3 r 1065 TEl
HUIS-H 1/2° % 3" ThE 3 0304506 50 03455258 1 O0R05625 300 p3455273 3 Fa 1085 17160
HUS-H 172" =47 THE" a1 DO30450T 50 3455259 pO30562E 150 [34552T4 2 ¥ 1855 2365
HUS-H 12" X g THE" 5 pO304508 gy paassesl pO30SE2T 150 2 T 1855 365
HUS-H12Z2" x 6" THe B nO304509 50 (3455261 00305628 150 DA4552TE 2 3" 1855 7365
HUS-H 5/8" screw anchor with hexagon head 43/16" AF, 1-3/16" washer diameter
Box Combo wiasser Carion Comsd
nchuces b’ fnchutes D)
b iaiatl S SN o s
pncho Bo Onby par  Wkaster Canod
DesoEtcn Ba s Lengh nam ko Oy e MO Oty Yoy M e HO o
HUS-H 578" x 37 = Tal -y 3 DOZEZFO03 20 03455262 3001533 160 03455271
HUS-H 58" x 'y Qe & pOZEFa0ds ag 03455263 03001534 BO 03455278
HUS-H 58" x 57 ang” 3 OOZE2HS 20 nAAS52E 03001535 BO n345537T9
HUS-H 58" x 6" anMe” [:n OO2B2206 20 3455265 p3001538 &0 3455260

- Cornbos mCheE stgrier quanies TE-CIK o TE-C fwhere Elahn) RSOy bt As bas= msignsls vy aciconal bits may 09 NECEESETY

1 Am;_.:.-we-fﬂ%' Fh-c:a.c!_tgc:fﬂl_;—..:dﬁ‘:t CoTEREE et O AnChOr s NS e expiarEhon of OB, P e

Setting Tools for HUS-H Screw Anchors

[ te gt Length WS Acrocs Fats Oy
1 100 impact Wrench [Standard] T - -
inchsdes tool only M En r:*-'.v;&:!-rﬁ.':-’lan'. pashic tool box
impact Sockels for 3/8" HUS-H Screw Anchor
g NSD 1/2°-1/2° Short @ 1-6018 12" 1
5-NSD 1/2°-1/27 Long z 3172 1z 1
Impact Spckets for 1/2" HUS-H gerew Anchor
5 NSD 1/2°-5/8" Short : aME /B
5-NSD 1/z=-5/8" Long v 31 58
Imy gpckets for 5/8* HUS-H Screw Anchor
& NSD 1/2°-13/16" Short @ 1-9MB 13M6° 1
& NSD 1/2°-1316" Long 2 a2 136"

nglaamﬂﬂﬂu—ﬂing and Pin Set
inciudes 3 ANgS and 3 pins

Hilti.

Bem Mo

pOE34203

ooa0a Tl

DO34DE42

4TS

B

Li- "

g

DO3146TA -
pO3T1B36

00336613

S 1-A00-363 T35 wrwrw hiltic?

Outperf

=

1

i




\\1-“ '““ o
-ﬁ! o |

, l\“ﬁ tﬂ"i






